
Vollständigkeit

1. Endliches Intervall I = [a, b]

f(x) =
∑
i

aiui(x) mit ai = 〈ui, f〉 =
∫ b

a

dx u∗i (x)f(x)

Vollständigkeit

δ(x− x′) =
∑
i

ui(x)u
∗
i (x
′)

Dann gilt

f(x) =

∫ b

a

dx′δ(x− x′)f(x′)

=

∫ b

a

dx′
∑
i

ui(x)u
∗
i (x
′)f(x′)

=
∑
i

ui(x)

∫ b

a

dx′u∗i (x
′)f(x′)︸ ︷︷ ︸

= ai

=
∑
i

aiui(x)

2. Unendliches Intervall R

f(x) =

∫ ∞
−∞

dk a(k)
eikx√
2π

mit a(k) =

∫ ∞
−∞

dx
e−ikx√
2π
f(x)

Vollständigkeit

δ(x− x′) =
∫ ∞
−∞

dk
eikx√
2π

e−ikx
′

√
2π

=
1

2π

∫ ∞
−∞

dk eik(x−x
′)

Dann gilt

f(x) =

∫ ∞
−∞

dx′δ(x− x′)f(x′)

=

∫ ∞
−∞

dx′
∫ ∞
−∞

dk
1

2π
eik(x−x

′)f(x′)

=

∫ ∞
−∞

dk
eikx√
2π

∫ ∞
−∞

dx′
e−ikx

′

√
2π

f(x′)︸ ︷︷ ︸
= a(k)

=

∫ ∞
−∞

dk a(k)
eikx√
2π

1


